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1 9:00 8:25 — 840 Z | 100mYH (0.762m) 3 22
2 9:20 8:45 —  9:00 2] 110mJH (0.991m) 4 25
3 9:45 9:10 — 925 = 300m 1 1
4 9:50 9:15 — 9:30 2] 300m 1~ 3 18
5 10:05 9:30 — 945 2] 400m 1~ 10 48.72 ~ 52.00 80
6 10:55 10:20 — 10:35 2] 400m 11 ~ 20 52.40 ~ 54.00 80
7 11:45 11:10 — 11:25 2] 400m 21 ~ 30 5400 ~ 56.50 80
8 12:35 12:00 — 12115 2] 400m 30 ~ 39 56.50 ~ ERERAL 69
9 13:20 12:45 — 13:00 %= 400m 1~ 8 56.55 ~ 1.04.18 64
10 | 14:00 13:25 — 13:40 %= 400m 9 ~ 16 1.04.29 ~ E28R4L 60
11 14:40 14:05 — 14:20 2] 5000m 1 ~ 3 145000 ~ 16.50.67 78
12 | 15:40 15:05 — 15:20 2] 5000m 4 ~ 6| 165458 ~ 18.04.59 78
13 | 16:40 16:05 — 16:20 2] 5000m 7 ~ 8 180515 ~ FE4L 76
14 | 17:40 17:05 — 17:20 = 5000m 1 3
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1 9:30 8:35 — 850 ] TE S Bk 5%HA-64HB 5m64 ~ ECERAL 70
2 11:00 8:45 — 9:.00 © ek 148 14
3 12:30 11:35 — 11:50 <] ENE Bk 148A- 2488 7m44 ~ 6m25 50
4 15:00 14:05 — 14:20 ] ENE Bk 34AA- 4488 6m23 ~ 5m65 67
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1 10:00 9:05 — 920 = FH ##2%:(1.000kg) 148 23
2 13:30 12:35 — 1250 B FH 2 %:(2.000kg) 1%8 4
3 13:30 12:35 — 1250 | &B| ME#E%0.750ke) 148 39
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1 9:00 8:25 — 840 B | 400mH0914m) | 1 ~ 10 76
2 9:55 9:20 — 935 B 200m 1~ 10 2120 ~ 23.00 80
3 10:25 9:50 — 10:05 B 200m 11 ~ 20 2300 ~ 23.60 80
4 10:55 10:20 — 10:35 B 200m 21 ~ 30 2360 ~ 24.00 80
5 11:25 10:50 — 11:05 -2} 800m 1~ 10 1.52.07 ~ 2.04.00 80
6 12:15 11:40 — 1155 -2} 800m 11 ~ 20 2.04.04 ~ 2.12.00 80
7 13:05 12:30 — 12:45 B 800m 21 ~ 29 2.12.00 ~ EREFHL 70
8 13:50 | 13:15 — 13:30 = 200m 1~ 10 2491 ~ 2750 80
9 14:20 | 13:45 — 14:00 z 200m 11 ~ 20 2750 ~ 30.00 80
10 | 14550 | 14:15 — 14:30 z 200m 21 ~ 25 3005 ~ R4L 35
11 | 1510 | 1435 — 14:50 z 1500m 1~ 3 42869 ~ 520.00 51
12 | 15:35 15:00 — 1515 z 1500m 4 ~ 6 5.22.54 ~ EREFHL 50
13 | 16:00 | 15:25 — 15:40 <) 200m 31 ~ 40 2400 ~ 2455 80
14 | 16:30 | 1555 — 16:10 <) 200m 41 ~ 50 2455 ~ 2544 80
15 17:00 16:25 — 16:40 ] 200m 51 ~ 59 2545 ~ EREREL 71
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3 13:00 | 12:05 — 12:20 E°8 TE Bk 34EA- 4488 4m58 ~ ERER1L 46
74— JILF (% TZFT)HH K
ok bt B AL HBERFZ| %
IR ﬂﬂ;ﬁfﬁ*ﬁ"“ 7 A @ R4 4
FA BE8A BT
1 11:00 | 10:05 — 10:20 % | 7\ —$%(4.000kg) 148 7
2 13:00 | 12:05 — 12:20 B | /\>7—#%(7.260ke) 148 4
3 13:00 | 12:05 — 1220 | &B |/ \><v—1(6.000kg) 148 11
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1 9:00 8:25 — 840 % | 400mH@O762m) | 1 ~ 5 36
2 9:30 8:55 — 910 -] 100m 1~ 10 1060 ~ 11.30 80
3 | 1000 9:25 — 940 -] 100m 11 ~ 20 1130 ~ 1152 80
4 | 1030 9:55 — 10:10 =] 100m 21 ~ 30 1152 ~ 11.73 80
5 | 11:00 | 1025 — 1040 -] 100m 31 ~ 40 1173 ~ 11.90 80
6 | 11:35 | 1100 — 11:15 =] 3000mSC 1~ 3 91456 ~ 10.33.56 36
7 | 1220 | 1145  — 12:00 =] 3000mSC 4 ~ 5| 103510 ~ 5L | 39
8 | 1255 | 1220 — 1235 -] 100m 41 ~ 50 1190 ~ 12.08 80
9 | 1325 | 1250 — 13:05 -] 100m 51 ~ 60 1209 ~ 12.41 80
10 | 1355 | 1320 — 13:35 -] 100m 61 ~ 70 1242 ~ 13.41 78
11 | 1425 | 1350  — 14:05 -] 100m 71~ 74 1341 ~ &AL | 28
12 | 1440 | 1405  — 14:20 £°q 3000m 1~ 2 46
13 | 1510 | 1435  — 14:50 E°q 4 x 400mR 1~ 3 35000 ~ 4.28.29 21
14 15:35 15:00 — 1515 8 4 x 400mR 4 ~ 5 42910 ~ ERERAL 12
15 | 1550 | 1515  — 15:30 ] 4 %x 400mR 1~ 4 3.12.00 ~ 3.30.00 32
16 | 1620 | 1545  — 16:00 ] 4 %x 400mR 5~ 8 3.30.00 ~ 3.39.00 30
17 | 16550 | 1615  — 16:30 ] 4 x 400mR 9 ~ 12 3.39.86 ~ &AL | 28
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1 10:00 9:05 — 920 © E= Bk 148 1m75 ~ 1m52 17
2 | 1000 9:05 — 9:20 ] ZER DK 148A- 2488 15m81 ~ 12m50 29
3 | 1330 | 1235 — 1250 & =S 248 1m50 ~ E28%HL | 23
4 | 1330 | 1235 — 1250 ] = BBk 34AA- 4488 12m47 ~ E8EL | 42
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1 10:00 9:05 — 9:20 ] X51)#%(800g) 148 58m47 ~ 36m72 31
2 | 1200 | 11:05 — 1120 % | Fahi%(4.000kg) 148 24
3 | 1430 | 1335 — 1350 ] 451)$%(800g) 248 36m68 ~ EEERAL | 31
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1 9:00 8:25 — 840 % | 100mH0838m) | 1 ~ 7 50
2 9:40 9:05 — 920 2 | 110mH1.067m) | 1 ~ 8 59
3 | 1025 9:50 — 1005 & 100m 1~ 12 12.14 ~ 13.60 96
4 | 1105 | 1030 — 1045 & 100m 13 ~ 24 1361 ~ 8L | 89
5 | 1145 | 1110 — 1125 =] 1500m 1~ 6 35300 ~ 4.20.15 107
6 | 1225 | 11:50 — 12:05 =] 1500m 7 ~ 12 42028 ~ 4.40.00 102
7 | 1305 | 1230 — 1245 =] 1500m 13 ~ 18 44100 ~ 2837L | 102
8 | 1350 | 1315 — 1330 & 800m 1~ 7 209.31 ~ 2.3487 53
9 | 1425 | 1350 — 1405 & 4 x100mR 1~ 3 4650 ~ 53.09 24
10 | 1440 | 1405  — 14:20 & 4x100mR 4~ 5 5345 ~ EERAL | 14
11 | 1450 | 1415  — 1430 ] 4 x100mR 1~ 5 4061 ~ 44.36 40
12 | 1515 | 1440 — 1455 =] 4 x100mR 6 ~ 10 4444 ~ JEEHL | 37
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1 10:00 9:05 — 920 ) E= Bk 148 2m06 ~ 1m80 22
2 | 1200 | 1105 — 11:20 & =B Bk 148A- 2488 27
3 | 1400 | 1305 — 1320 ] Bk 248 1m77 ~ 1m45 29
74— JILF (¥ TZET)HH K

s 1 B s BERZ =
Er | PP 185 i1 ,%ﬁ B4 4
rEZ R84 ®T EH#

1 1000 | 905 — 920 |BEEB| Fahi%6.000ke) 148 13m26 ~ 9m00 24
2 | 1100 | 1005 — 1020 & 451 $%(600g) 148 40m81 ~ EREREL | 26
3 | 1230 | 1135 — 1150 B | Fai%(7.260ke) 148 3
4 | 1230 | 1135 — 1150 |Z=5E| Fahi%(6.000kg) 24 8m99 ~ EEEHL | 20




